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QUESTION 1

You are asked to propose a software deployment strategy that will reduce a client will also make deploying and testing
their software stack more efficient. 

Which element would you include in your proposal? 

A. Vertically scalable platform 

B. Horizontally scalable platform 

C. Virtualized platform 

D. Standard unit testing software 

Correct Answer: C 

 

QUESTION 2

Your CMC wants to move several web based search applications to an AJAX model, hoping to improve user
engagement with a browser experience that feels smaller and more responsive. 

Which identifies a drawback to consider when adopting an AJAX model to improve user experience? 

A. Maintaining current performance could require more hardware. 

B. Maintaining accessibility across clients may require more development. 

C. Maintaining security within the page could be more difficult. 

D. Maintaining page navigability for users would have to be re-evaluated. 

E. Maintaining a scalable system could require redesigning applications. 

Correct Answer: C 

 

QUESTION 3

ABC Travel offers a night reservation service, exposed as a web service. XYZ Stays offers a hotel reservation service,
also exposed as a web service. ABC and XYZ will not change their web service. A startup company has contacted you
for 

advice about designing a new service that combines flight and hotel reservations, which they will offer as a web service. 

The startup company plans to provide their service by implementing a portable Java EE solution that aggregates the two
services offered by ABC Travel and XYZ Stays, a combined reservation succeeded. 

Only if both the flight reservation and the hotel reservation succeed 

Which is the most effective way to meet the business requirement? 
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A. The startup company should implement their new service as a web service that uses an XA transaction manager. 

B. The startup company cannot implement their new service as a web service, but must use an enterprise JavaBean
(EJB) component to gain transaction propagation. 

C. The startup company should implement their new service as a web service by calling the two existing services, and
implementing their own compensating transaction. 

D. The startup company can implement their new service as a web service by calling the two existing services in a
single transaction, relying on transaction propagation to support this business rule. 

Correct Answer: C 

 

QUESTION 4

An investment company has purchased a number of small online business referral systems that appeal to various niche
demographics. The company wants to bring these networks together in hopes of finding a broad, single theme and
brand image for these groups before they can do that, they need to get the users communicating with outside their
current networks. 

Which Web Services pattern would you recommend they consider in building a scheme to accommodate this
communication? 

A. Asynchronous Interactions 

B. PAOS Interactions 

C. Web Services Broker 

D. JMS Bridge 

Correct Answer: A 

 

QUESTION 5

Which option describes the design relationship between session beans and entity beans? 

A. Aggregation 

B. Separation of concerns 

C. Common reuse principle 

D. Liskov substitution principle 

E. Interface segregation principle 

Correct Answer: B 
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